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1 (%45 J8 IMO BUEM) &k AKT 1B R EH, ¢ = 4k> -5, £
P BAE a,b € N* R TR LI 2g=a, 11 =0, Tpyo = Tpy1 + 1, (n =

O R A R REES —MEFNIE a=1, b=2k+k—2", )5
WAERRMER, EFNHAER o =1, b= 2k> + k — 2, R B IFRIE I
R S b
DAL A LB R B 3 HER B, P L A R S8, A BB IE H— A {=, ),
RIS — MU RFE A, b a =1, 2 b=mk> +nk +1 (b KT k1
k) WIEIS, B ECS m B, RIATA3E.
HH {x,} BTJLI 1,6, 1+ b,1 + 2b, 3b + 2, BIHLE] b, 3 2
4b=0b* (mod 4k* —5)
20+1=0% (mod 4k*—-5) ,
3b+2=0" (mod 4k? —5)
2y = 0%,00, 0%, 6%, b (mod 4k* — 5).
AR B EMART R 1 A, REESE 1 K b AN
1+ mk® +nk + 1 = dlk + n’k* + 2Ink + > + 5k* + 5nk,
NTE R, ZIRI, AR m = 2 (fEZ A4, FIF

4k?* =5 (mod 4k? —5),
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(Al +n*+5—-2)k* 4+ (2n+4n)k+1*—1—1=0 (mod 4k* —5).

g BT, 4
n*+3=4
{ 2ln+4n =0 ’
A LHE

SR 12+ 4l — 1 = —5 AL FRUAGI R b = 2k + k — 2.
ZHIRAE 2T R . A
(2k* + k — 2,4k* —5) = (—2k — 1,4k* = 5) = (2k + 1,4) = 1,
JiT DA IR 380 i R VA GRAIE R 2, = 0 (mod ).
n=1,2 B, WX < n B, N
Tpyl = T + Tn,
=040 =01+ b)
="' b =" (mod 4K% — 5).
B ECE AR, 2, = 0" (mod t) AL
S bty =1, BrbA (b7, ¢) = 1, BTA {a,} PRI 5 ¢ HER. O
BB R H X R EETEMCC 2] PEEIN.

Eﬂ 2 (2017 ﬂEEﬂ}g%&iﬁﬁ%f&) thl(ill {an}, ag = m,a; = n, Xj"f:ff,%\;
k>1,3% ap = 4dap, —Sap_, T p AKRTH HEE AL 1WEHK Kik: FA
m,n € N*, & p TNEWR ap, SHEZE >0 B L.

G347 JLRR 1B, 3 FARE M ae = np (mod p),
WERA [ B 4 m =1, KN p=1 (mod 4), FTLA p 5k 12 + 1 (IKEIK).
[ _E 8, A5 B4k n 2
4n—5=n* (mod t*+1).
S

n=at’ + bt +c,

a®t* 4 2abt® + (2ac + b*)t* + 2bct + ¢ = 4(at®> + bt +¢) —5 (mod t* +1).
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Fe3l = a?t? + 2abt + (2ac + b*)t* + 2bct + ¢ (mod ¢ + 1),
I = dat? + 4bt + 4c — 5 (mod ¢ + 1),
FIrEL
(a® + 2ac + b* — 4a)t* + (2ab + 2bc — 4b)t + * —4c+ 5= 0.

NI AEAL T

A —4dc+5=1, (1)
2ab + 2bc — 4b = 0, (2)
a4 2ac+b* —4a=1. (3)

M) Re=2H Q) XAYHKae=0 EHRF AR H (3) Xb=+1,
FRUR b =1, n=1+2.

TR A UERXER k> 0, ap = n* (mod p).

k=01, 2% WAEE s=0,1---k, a; =n® (mod p). Wl s =k + 1 K,

app1 = 4ay, — Say — 1 = 4n* — 50t = nF 1 (dn — 5) = (mod p).
ES
pln, plt+2, 2 +1=(-2)>+1=5 (mod p).
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